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» The reduction in Social Security
benefits experienced by beneficia-
ries who work raises their implicit
marginal tax rate—sometimes to
more than ten million percent.

These extraordinarily high rates occur only in

what is called, ironically, the “grace” year. 4

nder the U.S. Social Security program,

monthly payments may be reduced for

beneficiaries who continue workingorre-

turn to work. This reduction in benefits

—known as the earnings test or the re-
tirement test—raises the implicit marginal tax rate.
Numerous studies have demonstrated that older
workers can be subjected to high marginal rates
asaresult of theearningstest in combination with
federal income and payroll taxes. For example,
Qestreich, Tooleand Galbraith found ratesas high
as 96%.! Entin found rates (including state in-
come taxes) as high as 105%.? Although the ex-
istence of such high rates is well documented, what
is less well known is that the marginal rate can,
insome cases, go much higher than 100%. Indeed,
itcanexceed 10,000,000%! Suchbrobdingnagian
tax rates occur only in what is called, ironically,
the ““grace” year.

The grace year is normally the first calendar
year that a person receives Social Security ben-
efits.® The earnings test operates differently in
the grace year than in subsequent years.

Generally, the earnings test works this way. A
beneficiary of ages 62-64 may earn up to $7,080
(the annual “exempt amount”) in 1991 without
any penalty. Ifhe orshe makesabove $7,080, then
anyadditional earningsaresubjecttoa 50% “tax”—
that is, his or her benefits are reduced one dollar
for every two dollars of such earnings.* A bene-
ficiary ofages 65-69 may earn upto$9,720in 1991
without penalty. Ifhe or she makes above $9,720,
then anyadditional earnings aresubjecttoa 33¥:%
tax—that is, his or her benefits are reduced one
dollarforeverythree dollarsof suchearnings. There
is no earnings penalty for workers over age 69.

In the grace year, however, an additional rule
applies. Benefits are not reduced for any month
in which the retiree earns one-twelfth or less of
the annual exempt amount.’ For instance, a per-
son who applies for Social Securityin 1991 atage
65canearnupto$810amonth($9,720-+ 12)with-
outincurringany penalty. Whilethe monthly “test”
was meant to lead to benign results, this exemp-
tion can have a sharply punitive impact on ben-
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Monthly Earnings Test for Mr. Washington

Charge-

Benefit able
Entitle- Excess Reduction Monthly
Month ment Earnings Earnings in Benefit Payment
June $1,022 $ 0 $4,496.11 § 0.00 $1,022.00
July 1,022 811 4,766.44  1,022.00 0.00
August 1,022 811 401478 1,022.00 0.00
September 1,022 811 3,263.11  1,022.00 0.00
October 1,022 811 2,511.44 1,022.00 0.00
November 1,022 811 1,759.78  1,022.00 0.00
December 1,022 811 1,008.11  1,008.11 13.89

June

July
August
September
October
November
December

The Difference a Dollar Can Make

Month

Benefit Monthly
Entitlement Earnings Payment
$1,022 $ 0 $1,022.00
1,022 810 1,022.00
1,022 811 0.00
1,022 811 0.00
1,022 811 0.00
1,022 811 0.00
1,022 811 0.00

eficiaries who earn slightly above $810 a month
and havesufficiently high preretirement earnings
inthegrace year.® This predicament is best dem-
onstrated by example.

OPERATION OF THE MONTHLY TEST

Take the case of Mr. Washington, who works
in a job paying $55,700 a year.” On June 1, 1991,
Washington turns 65, leaves hisjob and applies for
Social Security. His preretirement income for five
monthsis$23,208. Assuming that Washington has
been a high income employee for his entire career,
he qualifies for the maximum Social Security ben-
efitof$1,022 permonth, which he begins drawing
in the month of June.? After one month at home,
Washington gets bored and takes a part-time job
with a local charity paying about $200 a week.

As TableIshows, Washington gets his full ben-
efitof$1,022 for June. Although Washington has
$4,496 of “excess earnings” (one-third of the dif-

ference between $23,208 and $9,720), these are
not charged against him because (by not working
in June) he passes the monthly test.® In July, how-
ever, Washington earns $811.'°Since thisexceeds
the monthly exempt amount, he is liable for the
full balance of hisexcess earnings—now $4,766."!
The most that can be charged against him for July
is 100% of his benefit, or $1,022. So Washington
losesitall.'?In August through November, Wash-
ington continues to lose all of his benefits as his
excess earnings get used up each month. In De-
cember, afterearning $811, Washington’s remain-
ingexcess earnings are $1,008.11. So that is what
the government reclaims for December. There-
fore, his December benefit will be $13.89.'3

What is Washington’s marginal tax rate? Be-
cause of the way the monthly test operates in the
grace year, there is no single marginal rate for the
year. Instead, one must determine the marginal
rate for each month. For June, the marginal rate
iszero. For December, the marginal rateisthe same
3315% one normally associates with the earnings
test for 65 year olds. For example, if Washington
earned $812 in December, hisbenefit for Decem-
berwould fall from $13.89t0$13.56. Inthe other
fivemonths(July-November), three different meth-
ods could be used to calculate his tax rate.'*

If Washington earned $8 10 in July instead of
$811, his marginal rate for that month would be
zero(see TableIl). Since Washingtonearns $811,
his tax rate could be calculated by amortizing his
additional tax liability over his entire monthly
income. Using this method, Washington’s “av-
erage” marginal rate is 126% ($1,022+$811).

But that isnot a true marginal rate. It does not
tell usthe extratax from earning thelast (and piv-
otal)dollarofincome. By going from $810to$811
inincome, Washington does not lose 33¢. Heloses
$1,022.15 With respect to that dollar of income,
Washington’s marginal tax rate is 102,200%
($1,022-+31).

A third way to calculate the marginal rate is
to look for the worst possible case—that is, the
smallest increment of incomethat cancostanen-
tire month of benefits. If Washington earned
$810.99 in July, he would receive his full $1,022
monthly benefit. But by earning the additional
penny, he loses the full $1,022. Viewed in this
way, Washington’s marginal tax rate (on the penny)
isan astonishing 10,200,000%.'¢ And that is be-
fore income taxes!

Exceedingly high marginal rates can occur in
any tax structure where rates are a discontinu-
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ous function ofincome. Sometimescalled “cliffs,”
“notches,” “spikes” or “humps,” these phenom-
enaresult from disqualifications orstepped phase-
outs.!” For instance, Coven has shown that the
phase-out of the dependent care credit leads to
the possibility of an effective marginal tax rate
of 4,800%.'® The phase-out of the personal ex-
emption under the Omnibus Budget Reconcil-
iation Act of 1990 causes tax rates to spike over
100,000%."° Nevertheless, the 10,000,000% rate
generated by the earnings test appears to be the
highest in existence.

INEQUITIES IN THE GRACE YEAR

To judge whether the high rate imposed on
Washington is fair, one can look at how current
law would treat other hypothetical beneficiaries
in slightly varying circumstances.

Consider the case of Ms. Adams, who isiden-
tical to Washington except that she turns 65 on
February 1. Adamsstops working and begins draw-
ing Social Security on that date and later joins
Washington in July intaking the same part-time
job. Under the earnings test rules, Adams will re-
ceive her full $1,022 benefit for 11 months be-
cause herannual earnings are less than $9,720.2°
Despitethe fact that Washingtonand Adamshave
thesame postretirement income, Washington gets
far lower benefits than Adams for July through
December becausethelater one retiresinthe grace
year, the more likely the earnings test will penal-
ize postretirement income.

Considerthe case of Ms. Jefferson, whois sim-
ilar to Washington except that she earns a much
lower (preretirement)salary. Jeffersonleaves her
jobwhen Washington doesandjoins him in July
atthesamepart-time employment. Solongas Jef-
ferson’s preretirement salary does not exceed an
annuallevel of $11,649, she willnot lose a penny
of benefits due to her postretirement earnings.
Washington gets far lower benefits than Jeffer-
son because the higher one’s preretirement sal-
ary, the more likely the earnings test will penal-
ize postretirement income.

Considerthe case of Ms. Madison, whoisiden-
tical to Washington except that she earns only
$810ratherthan $811 amonth. Attheend of the
year, Madison’s annual earned income wilibe $6
lessthan Washington’s. But Madison’s Social Se-
curity benefits will be $6,118 greater.?! She will
get her full $1,022 monthly benefit for seven
months. Madison’s preretirement income could
evenbehigherthan Washington’s—and thusher

total annual income could be higher—and she
would still receive full benefits. Alternatively, if
Madison earns $820in December, her annual in-
come would again be higherthan Washington’s,
yetshe would lose only one month of benefits while
Washington loses nearly six full months. Wash-
ington gets far lower benefits than Madison be-
causethe distribution of postretirement income
per month can be more determinative than the
total amount of income per year.

Considerthe case of Dr. Monroe, whoisiden-
tical to Washington except that she has a much
betterunderstanding ofthe grace year rules. Mon-
roe applies for Social Security benefits on Jan-
uary 2 effective for that month. Like Washing-
ton, Monroe continuesto work until June 1 when
shebecomes 65. Monroehasthe sameannual earn-
ingsas Washington—$23,208 for January through
May, nothing for June and $4,866 for July through
December.?? Thus, both claimants have “excess
earnings” fortheyearof$6,118.2> But unlike Wash-
ington, Monroe gets to charge off most ofherearn-
ings test penalty to the first five months of the
year. So while Washington receivesonly $13.98
for July through December, Monroe receives
$4,983.89.24 Washington gets far lower benefits
than Monroe because the later one retires (i.e.,
commencesentitlement to Social Security)inthe
graceyear, the fewermonthsareavailable for charg-
ing off excess earnings.?’

In addition to causing incongruous results in
thegrace year, the earnings test also leads to first
and subsequent year recipients being treated in-
consistently. After the grace year, an additional
dollar of income from earnings can never cost a
retiree (ages 65-69) more than 33¢. Considerthe
case of Mr. Jackson, who began Social Security
in 1990 at the maximum benefit and took a part-
time position at $811 amonth. In 1991 Jackson
can work all 12 months and lose only $4 in ben-
efits(33¢ permonth)for the year. Although Wash-
ington and Jackson have very similar preretire-
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ment earnings and earn the same postretirement
monthly wage, Washington would receive much
lower Social Security benefits than Jackson for
the last six months of 1991.

The above examples use 65 year olds to dem-
onstrate the inequities ofthe earnings test because
the impact on 62-64 year olds is more compli-
cated. On the one hand, the earnings test for the
62-64 age group is more restrictive because of the
lower annual exempt amount ($7,080) and the
higher penalty rate (50%). Forexample, if Wash-
ington werea year younger when he retiresin June
1991, he would lose all benefits (except for June)
at an annual preretirement earned income level
aslowas$33,163.2°Ontheotherhand, theearn-
ings test is much less onerous because any months
lost (wholly or partially) trigger higher benefits
beginningatage 65.%” Specifically, foreach month
Washington loses benefits due to the earnings test
before heturns 65, his reduction for early retire-
ment willbe permanently decreased by one month.
Thus, an exact marginal rate calculation would
alsohaveto factor in the present value of this fu-
ture benefit increase.?®

Anexamination of these cases shows that slight
distinctions can make a big difference in deter-
mining Social Security benefits. [tiscertainly de-
batable whether these distinctions are justifiable.
Should Washington receive far lower Social Se-
curity benefits than Adams, Jefferson, Madison,
Monroe and Jackson? Should the results of the
earnings test hinge on factorslike the amount of
preretirement income, one’s retirement date or
whether one earns a penny too much? If not, how
could the test be reformed?

WHY THE INEQUITIES OCCUR

The predicament of beneficiaries like Wash-
ington can occur whenever both pre- and post-
retirement earningsare sufficiently large. The pun-
ishingly high marginal rates are caused by the in-
teraction of two features of Social Security that
occur only in the grace year: (1) an annual earn-
ingstest that is retrospective and (2) the monthly
exemption.

Normally the annual test measures earnings
received by a Social Security recipient after re-
tirement. Butin the grace year, the earnings test
counts notonly postretirement earnings but also
preretirement earnings.?® This retrospective, or
look back, provision may lead to an immediate
large benefit reduction because a new retiree may
begin Social Security with a liability of excess

earnings. When that happens, a 33'3% penalty
onpreretirement earnings above the exemption
isadded tothe 33¥3% penalty on postretirement
earnings.

Theextentof preretirement earnings that are
“tested” depends upon one’sretirement date. Thus,
five months will be counted for Washington, while
only one month will be counted for Adams. The
rationale for treating Washington and Adams dif-
ferently is that a tax year is the proper period for
measurement. Assuming for the sake of argument
that this is reasonable, it raises the issue of why
the testing of preretirement income should stop
at just one tax year since this same logic could
be extended to require testing of previous years
of preretirement income.

The high marginal rate occurs because of the
operation of the annual test in conjunction with
the monthly exemption. The monthly exemp-
tioncausesacliffbecause thereisnogradual phase-
out. A month is either exempt or not exempt.>°
Of course, the monthly test alone does not in-
crease anyone’s benefit loss. It can only help a
beneficiary. If there were no monthly test in the
grace year, a beneficiary could lose even more
money than at present. But there would be no
cliff effect.

Insummary, because preretirement earnings
are counted in the initial year, the monthly test
1s provided to offer grace. It does that. What is
questionable is whether it offers enough grace.

ORIGINS OF THE GRACE YEAR CLIFF

The high marginal tax rate caused by the earn-
ings test in the initial year is not a recent anom-
aly. On the contrary, the cliff is a vestige of the
original Social Security Act of 1935.3! Although
theearnings test has been reformed 16 times since
then, the possibility of losing an entire month’s
benefit by earning a penny too much has always
existed. What has changed, however, are the cir-
cumstances that could lead to such a draconian
penalty. The various modifications of the earn-
ingstest have continually narrowed these circum-
stances. Originally, the cliffapplied toeveryben-
eficiary every month. Now it applies only in the
graceyeartobeneficiaries below the age of 70 who
continue to work and exceed the limits of both
the annual and monthly tests.

There has always been a monthly exemption
from the earnings test in the initial year. Indeed,
in 1940, the first year in which benefits were paid,
the monthly exemption constituted theentireearn-
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ings test and applied in the initial and all subse-
quent years.>? Under the test, beneficiaries lost
their entire monthly benefit ifthey earned wages
of $15 or more in such a month.33

Over the past 40 years, the earnings test has
been repeatedly liberalized. In 1950 the earn-
ings test was abolished for beneficiaries over age
74.34 In 1955 an annual test was added to the
monthly exemption,*> to permit beneficiaries
to work seasonally.>® Also that year, the earn-
ings test was abolished for beneficiaries over age
71.37In 1961 the penalty rate was lowered from
100%to 50%in certain circumstances.>®In 1973
the 100% rate was completely replaced with a
50% rate.?” In 1978 the monthly exemption was
abolished except for the initial year.*® The pur-
pose of this change was to prevent certain sea-
sonal workers (e.g., teachers) from receiving full
benefits during their months off. According to
the House committee report, the monthly test
was retained in the grace year so that new ben-
eficiaries who retired “after earning a substan-
tial amount in the year of retirement would get
benefits for the monthsin that yearin which the
beneficiary actually was retired.”*! In 1983 the
earningstest wasabolished for beneficiariesover
age 69.4? In 1990 the penalty rate was lowered
to 335% for 65-69 year olds.*?

By contrast, testing preretirement earnings was
not part of the original design for Social Security.
The earnings test did not begin counting prere-
tirement earnings foremployees until 1955 when
theannual test was instituted.** This new test ap-
plied toallincome from earnings in ataxable year
which, inthe first year of eligibility, normally in-
cluded preretirement income.*’

Applyingthe earnings test to preretirement in-
come, it can be argued, violates the original in-
tent of the test. The purpose of Social Security
is to replace a portion of the earnings lost from
retiring. The function of the earnings test, there-
fore, istogauge whetherabeneficiary trulyis “re-
tired.”*® But in the grace year, the earnings test
goesbeyondits function of measuring the degree
of retirement. By counting preretirement income,
the earnings test misuses information not rele-
vant to determining whether a beneficiary has
actually “retired.”

NUMBER OF AFFECTED
BENEFICIARIES

It is one thing to demonstrate the possibility
of multimillion percent marginal tax rates, but

another to show that real beneficiaries are being
hitby them. Unfortunately, thereare nodataavail-
able on how many recipients are in this predic-
ament oron the extent to which such benefit loss
can be attributed to preretirement earnings.

Nevertheless, one can get some idea of the size
ofthe potentially affected population. Of the ap-
proximately 1.4 million individuals ages 62-69
who began their entitlement to Social Security
during 1989, morethan 249,000 (or 17%)lost some
benefits as a result of the earnings test. Of that
249,000, about 81% lost more than one-half of
their benefits, and 47% lost them all.*” In addi-
tion, there are about 1.2 million working elderly
whohavenot filed for benefits because of the earn-
ings test.*® Thus, there could be numerous indi-
vidualsinsituations similar to the case of Wash-
ington.

OPTIONS FOR REFORM

There are several options for dealing with the
problem of super high marginal tax rates.*° First,
better program information would assist individ-
uals in avoiding any problem. Despite the fact
that this penalty is more than 50yearsold, its ex-
istence isnot well understood. Since thegrace year
rules are very complicated, new retirees may not
fully comprehend them until they see the impact
oftheeamingstestontheirownbenefits. Yetlearn-
ing from experience is not very useful in this cir-
cumstance because the grace year is a once-in-
a-lifetime event.

Although the Social Security Administration
providesbrochures and fact sheets about theearn-
ings test, these brochures do not clearly explain
theinteraction of the annual and monthly tests.>°
These brochures could be rewritten to give new
retirees an explicit warning of whe ; -vill happen
if they earn more than the mon:+'y exempt
amount. The brochures could also explain the
advantages and disadvantages of applying for
benefits early in one’s grace year (as Monroe
shrewdly does).

Second, theannualtest intheinitial year could
berevised to cease counting preretirement earn-
ings.>! (This change was included in a Social Se-
curity bill passed by the U.S. House of Repre-
sentativesin 1979 but was not encompassed in
the final 1980 legislation.)>? In the absence of
dataon the number of affected recipients, there
are no cost estimates for such a reform. Nor are
there any data on the income level of the group
involved.
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A third solution would be to apply a cap on
any earnings test reduction based on the ratio of
postretirement to total annual earnings. For ex-
ample, if postretirement earnings were 40% of
total annual earnings in the grace year, then no
monthlybenefit would be reduced more than 40%.
A strong argument against this option, however,
isthat it would add yet anotherlayer of complex-
ity to an already too complicated program. At
present, thereareat least 90 different waystocom-
pute aninitial benefit—and thatisbefore any re-
ductions for factors like the earnings test.

The best reason for eliminating the possibil-
ity of a 10,000,000% marginal tax rate is to en-
hance program equity. The traditional efficiency
argument—that high marginal rates are work
disincentives—may not be very important here
since many of the affected beneficiaries proba-
blylearn about theirbenefit loss long after it could
influence theirbehavior.>> By the time a newben-
eficiary gets his or her first check, reports post-
retirement earnings and learns of any benefit re-
ductions, the grace year may well be over.>*

In 1988, then-Commissioner of Social Security
Dorcas Hardy told a House Ways and Means Sub-
committee what she thought of the earnings test:

I am not quite sure who had the brightidea
of calling the retirement earnings provision
atest, because theonly thing that it appears
totestisthe mettie of the beneficiaries who
try to live with it, and also the patience of
the Social Security Administration employ-
ees who try to administer it.>>

Whether or not one agrees with that unfavor-
able assessment, it seems a safe bet that the earn-
ings test will continue to be reformed, but never
quite perfected. |
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